NOTES C – TEST 

SECTION A – Which Scientist was it? – Match the correct scientist with his or her discovery. (13 Pts)
_____1. Aristotle

_____2. Antoine Lavoisier

_____3. John Dalton

_____4. Sir J.J. Thomson

_____5. Robert Milikan

_____6. Democritus

_____7. Lord Rutherford

_____8. James Chadwick

_____9. Niels Bohr

_____10. Johann Dobereiner

_____11. John Newlands

_____12. Henry Moseley

_____13. Marie & Pierre Curie

A. Calculated mass of an electron

B. Proposed the idea of Triads

C. First to propose the idea of the atom

D. Found the electron

E. Law of Octaves

F. Found Law of Conservation of Mass

G. Disbelieved Democritus’ ideas of the atom

H. Modern Periodic Law

I. Found Radioactivity

J. Found the proton

K. Found the neutron

L. Proposed atomic theory

M. Found energy levels
SECTION B – Calculations/Completion
1. Calculate the average atomic mass of oxygen if the percent abundance of Oxygen-16 (mass 15.994915) is 99.762%, Oxygen-17 (mass 16.99131) is 0.038%, and Oxygen-18 (mass 17.99160) is 0.20%. (4pts)
2. Complete the chart below. Round each mass number to the nearest whole number. Assume each atom is neutral. (15 pts)
	Name
	Symbol
	Atomic Number
	Mass Number
	# Protons
	#Electrons
	# Neutrons

	
	
	20
	40
	
	
	

	Chromium
	
	
	
	
	
	28

	
	
	82
	
	82
	
	


3. What three major contributions did Alchemists make to science? (3 pts)
a. _____________________________________________________________________________________

b. _____________________________________________________________________________________

c. _____________________________________________________________________________________

4. The half-life of radium-226 is 1600 yrs. How many grams of a 0.25 g sample will remain after 4800 years? (3pts)
5. Is transmutation, or the changing of one element into another element, possible? Explain your answer.(3 pts)
6. Alchemy is considered to be medieval attempts at science. They based their work on the Greek idea that matter naturally strived toward perfection. What two things were alchemists trying to do? (4pts)
SECTION C – MULTIPLE CHOICE – Each question can have only one correct answer.(1 pt each)
_____1. In 1896, Henri Becquerel found that uranium ores exposed to photographic film formed
A. Photographs

B. Nuclear bombs

C. X-rays

D. Electricity

_____2. What is the Greek word for “indivisible”?

A. Atomos

B. Radioactivity

C. Hyle

D. Triads

_____3. Radioactive nuclei emit particles and/or energy called what?

A. Atoms

B. Fusion

C. Radiation

D. Fission

_____4. How did Alchemists believe they could obtain perfection?

A. Philosopher’s Stone

B. Geiger Counter
C. Isotopes

D. Hyle

_____5. Isotopes differ by the number of ___________ in an atom.
A. Protons

B. Electrons

C. Neutrons

D. Isotopes

_____6. Where are electrons located within the atom?

A. In the nucleus with the Protons
B. In the nucleus with the neutrons

C. In the electron cloud within the nucleus

D. In the electron cloud outside the nucleus

_____7. Based on Rutherford’s Gold-Foil Experiment’s results, what model of the atom did he disprove?

A. Old Periodic Law

B. Solar System Model

C. Chocolate-Chip Cookie dough model (Plum- Pudding Model)

D. Modern Periodic Law

_____8. Protons are _____________ charged.

A. Positively

B. Negatively

C. Neutrally

D. None of the Above

_____9. What part of Dalton’s atomic theory does the existence of isotopes prove wrong?

A. All matter consists of tiny, indivisible particles called atoms

B. Atoms of an element are identical and are different from atoms of any other element

C. Chemical compounds are formed when atoms of different elements combine with each other

D. In chemical reactions, atoms are separated, combined, or rearranged, but they are never converted into atoms of another element

_____10. Which type of nuclear reaction deals with the division of an atom?

A. Fission

B. Fusion

C. Nuclear Stability

D. Radiation

_____11. The time it takes for half of the mass of a radioactive sample to decay into a more stable substance is called what?

A. Time Elapsed

B. Stability Time

C. Half-life

D. Both A & C

_____12. On the modern periodic table, the elements are listed in order of 

A. Increasing Atomic Mass
B. Increasing Atomic Number

C. Decreasing Atomic Mass

D. Decreasing Atomic Number

_____13. Where are the protons and neutrons located in the atom?

A. In the nucleus

B. In the electron cloud

C. In energy levels

D. Both A & C

_____14. What does the “A number” refer to?

A. Atomic Mass

B. Mass Number

C. Atomic Number

D. Isotopes

_____15. What does the “Z number” refer to?

A. Atomic Mass

B. Mass Number

C. Atomic Number

D. Isotopes

_____16. What do we use to identify an element?

A. Atomic Mass

B. Mass Number

C.  Atomic Number

D.  Isotopes

_____17. Which discovery provided scientists with a way to breakdown compounds into their elements?

A. Electricity

B. Spectrometer

C. Industrial Revolution

D. X-rays

_____18. Why did Mendeleev leave blank spaces on his periodic table?

A. For isotopes of Elements

B. For Elements that were radioactive

C. For elements that have not yet been discovered

D. For elements that are metalloids

_____19. What does “periodic” mean?

A. Repeating pattern

B. Alphabetical order

C. Numberical order

D. Both A & B

_____20. One property that transition metals exhibit that makes them useful is
A. Ability to separate elements into their individual elements

B. Makes compounds with distinctive colors

C. Extremely soft metals

D. Extremely unreactive

_____21. Niels Bohr’s model of the atom discussed the specific energy that an electron may possess in an atom. His model is referred to as 

A. Old Periodic Law

B. Modern Periodic Law

C. Chocolate Chip Cookie Dough model (plum pudding model)

D. Solar System Model

_____22. Atoms differ by 

A. Structure 

B. Properties

C. Number of electrons

D. Both A & B

_____23. Which discovery did scientists use to identify newly isolated elements?

A. Electricity

B. Spectrometer

C. X-rays

D. Cathode Ray

_____24. What do we call the horizontal rows on the periodic table of elements?

A. Periods

B. Groups

C. Families

D. Both A & B

_____25. What do we call the vertical columns on the periodic table of elements?

A. Periods

B. Groups

C. Families

D. Both B & C
_____26. The metalloids on the periodic table all exist in which state of matter at room temperature?
A. Solids

B. Liquids

C. Gases

D. Solids and Liquids

_____27. What are the three types of radiation from largest to smallest?
A. Beta, Gamma, Alpha

B. Alpha, Beta, Gamma

C. Gamma, Alpha, Beta

D. Alpha, Gamma, Beta

_____28. Elements in group 2A make up the __________________ metals.

A. Noble

B. Halogen

C. Alkaline Earth

D. Alkali

_____29. When electric current passes through the noble gases, they ______________________________.

A. Emit different colors

B. Form X-rays

C. Give off radiation

D. Exhibit no changes
_____30. Elements in group 8A, the noble gases, are colorless, odorless, and extremely __________________.

A. Reactive

B. Unreactive

C. Metallic
D. Radioactive

_____31. The majority of elements on the periodic table are ______________.
A. Metallic and Liquids

B. Nonmetallic and Solids

C. Metallic and Solids

D. Nometallic and gases

_____32. Lord Rutherford’s Gold Foil Experiment proved that the atom has a central core, or a nucleus, with what charge?
A. Positive

B. Negative

C. Neutral

D. None of the above

_____33. To calculate the neutrons of an element, you must
A. Add the atomic number to the mass number

B. Multiply the atomic number by the mass number

C. Divide the mass number by the atomic number

D. Subtract the atomic number from the mass number

_____34. To determine the average atomic mass for an element, you need to know

A. The percent abundance of each isotope

B. The atomic mass of each isotope

C. Which isotopes exist

D. All of the above

